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aRE: FYE—IL#F OVRE: FYE—IL#F
BfEFEAR: 234%6H188 (H) FREERA: 23468188 (A)
fEA3—R: OUT 1IN IERLRE S % Ry hIE fA3—X: OUT 1IN IBRLRFE T & *YhIE
AR HRUT BEIER: 1 4£EBH 4B SN BERA R HRUT BEIER: 1448 4FBH B A %K
HDCPLPRE: BB14:40 & 4:40 =7 :40 2: 45 5\ T4 g % 59 A HDCP_LFR: 14 40 %&t:40 <=7 :40 2: 5 5\ T4 B % 59 A
51k PAI & = % 7 A 71k PAI 3 T M 7 A
rLt—1: OUT @BB®®O v=7. 0 A rLt—1: OUT QBB H®®Q v=7: 0 A
1 N (03233dHa1aI8 it 66 A 1 N J0d23)A»danads oo 66 A
JE 4L smEA OUT I N GROSS HDCP NET e JIE 45z smEA OUT I N GROSS HDCP & NET kS
T eSS 41 44 85 15.6 694 LiEAH 51 XA KA 45 54 99 21.6 717.4
2 I FE—- 38 37 75 4.8 70.2 LREAH 52 &R Bz 46 47 93 15.6 17.4
3 HF—E 36 38 74 36 704 LHEAHE 53 ER &= 46 41 87 9.6 717.4
4 B EB 40 39 79 8.4 70.6 LtfAE 54 AKfERRE 45 47 92 144 717.6
5 #HEF 37 40 77 6.0 71.0 LEAH 55 RERIE & 43 43 86 8.4 77.6 ®RUE
6 KEO FEk 40 41 81 96 71.4 LREAHE 56 =i ™ 50 54 104 26.4 77.6
7 EXEE 39 40 79 1.2 71.8 LtAE 57 BB = 53 56 109 31.2 77.8
8 EHH HE 38 41 79 7.2 71.8 LfEAHE 58 /MR EA 48 49 97 19.2 7117.8
9 k4t {EHH 46 44 90 18.0 72.0 LA 59 £k B 44 46 90 12.0 78.0
10 /MR fE— 41 43 84 12.0 720 LEAE 60 Ak FA 44 40 84 6.0 78.0 ®RUH
11 H+ # 38 39 17 4.8 712.2 61 =45 f0s= 46 46 92 13.2 78.8
12 1% =4 40 41 81 8.4 72.6 62 FEFEIER 47 48 95 15.6 79.4
13 TRk 1E 37 37 74 1.2 72.8 63 Fih #& 46 47 93 13.2 79.8
14 JtEE &= 35 39 74 1.2 72.8 64 S5 BK 60 58 118 37.2 80.8
15 WA & 44 53 97 240 73.0 RUE 65 /MR # 39 46 85 3.6 814 -—t—H
16 =H = 41 38 79 6.0 73.0 66 1EAKEE 56 53 109 26.4 826 7-tE—*—Hh—HE
17 & EE 45 39 84 10.8 73.2
18  #HE 8= 37 35 712 +1.2 713.2 ~RYnHE
19 Ik 88 38 39 17 3.6 713.4
20 {ERKH 39 43 82 8.4 713.6 RUE
21 /JHEHE H®BF 52 48 100 264 73.6
22 EFE M 46 47 93 19.2 73.8
23 Ik B#F 46 46 92 18.0 74.0
24 WF ERF 48 49 97 22.8 74.2
25 EHE 48 49 97 22.8 74.2 ®RUE
26 Z2EFEHE— 42 42 84 9.6 74.4
27 BEEX 38 40 718 3.6 74.4
28 {kH HRiE 44 51 95 204 74.6
29 F gz 45 38 83 8.4 74.6
30 #EM 45 43 88 13.2 74.8 RUE
31 H # 36 40 76 1.2 74.8
32 R 3¥iE 43 44 87 12.0 75.0
33 HMN UEH 46 46 92 16.8 715.2
34 Z=FEH 45 47 92 16.8 715.2
35 1EEH 41 44 85 9.6 754 ®RUE
36 MR —Rk 39 40 79 3.6 715.4
37 {kEk BHF 40 39 79 3.6 715.4
38 JdtH +% 41 43 84 8.4 75.6
39 FEi%k fIL 41 43 84 8.4 75.6
40 /\EE T 42 41 83 7.2 75.8 ®UE
41 BT EB 42 46 88 12.0 76.0
42 Jt Lt BA 44 44 88 12.0 76.0
43 B EF 47 53 100 240 76.0
44 FIE BKER 43 38 81 4.8 76.2
45 TR i 45 46 91 144 76.6 RUH
46 /= i 45 45 90 13.2 76.8
47 RriE EE 42 47 89 12.0 77.0
48 Ho K= 50 45 95 18.0 717.0
49 TEKRER 43 45 88 10.8 17.2
50 AU E 46 41 87 9.6 774 ®RUE
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